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Mirror changes the dircction of light that falls
on it. This change of direction of light by a
mirror is called?

(1) Displacement of light

) Scattering of light

(3) Reflection of light

(4) ‘Reversion of light

(5) N6t attempted

Match the following I and II :

1 11
Name of the Organ of
Organism Respiration
A. Human being I.  Trachea
B. Earthworm II. Lungs
C. Insects I11. Gills
D. Fish IV. Skin

(1) A-III, B-I, C-II, D-IV

(2) A-III. B-1. C-IV. D-II

(3) A-IIL. B-II. C-1V, D-I

(4) A-Il. B-1. C-lII, D-1V
" (5) Not attempted

Match the items in column-I with those in
column-II :
Celumn-I

A. Salivary glanc}/r L.
BB. Stomach -7 I
C. Liver %éﬂ.[ Hydrochloric Acid
D. Pancreas v l\/. Amylase
Choose the correct option :

A1) A-1V, B:l, C-lII, D-II
(2) A-IV. B-1, C-II, D-III
(3) A-l, B-1V, C-IlI, D-II
4 A-IV, B-l1II, C-1, D-II
(5) Not attempted

Column-II
Bile juice
Insulin

The process of loosening and turning of the
soil is called —

(1) sowing

(2) harvesting

(3) winnowing

(4) tilling

(5) Not attempted
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5 Ppasteurisation of milk is

(1) Heating of milk to about 70°C for about
30 seconds and then slowly cooling it
and storing.
Boiling of milk and then slowly cooling
it and storing.
Heating of milk to about 70°C for aboul
30 seconds and then suddenly chilling it

(2)
(3)

and storing. o
() Boiling of milk "ind then suddenly

chilling it. -
(5) Not attempted 5
-

6. Which of the following food items gives
blue-black colour with iodine ?
(1) Starch
(2) Mincrals
(3) Protein
(4)
(5) Not attempted

7. Typhoid is caused by &
(1) Ba wna
42) Virus
(3) Prowzoa
() Fungi
(5) Not atempted
v )

8. Condensation is the process of —

(1) Evaporation of petrol
(2) Separation of sand from water by

decantation -
(3) Conversion of water vapour into its liquid
form (0

(4) Conversion of water, into its vapour
(5) Not attempted ™,

9. Large scale storage of‘EJg}ains i1s done in :
(1) Silos and granaries..,
(2) Jute bags [~
(3) Jute bags and metallic bins
(4) Metallic bins
(5) Not attempted
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Match the following :

Column-I Column-I1

Name of the Movement
Animal

A. Snake I.  Swim

B. Fish 1. Slither

C. Bird III. ‘Walk

D. Cow IV. Fly

(1) A-IL B-11I, C-1, D-IV
(2) A-lIIL, B-1I, C-1V, D-1
(3) A-Il. B-1, C-1V, D-III
4) A-1, B-IV. C-111, D-11
(5) Not attempted

Dark coloured objects absorb
than the light coloured objects
(1) less

(2) equal

(3) very much less

(4) more

(5) Not attempted

The minimum distance required by a normal
human eye to sec the objects clearly -
1) 50 cm

(2) 30 cm

(3) 40 cm

4) 25 cm

(5) Not attempted

Pathogens are microbes which :
(P Cause diseases

(2) Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

Which of the following is an antibiotic?
(b~Alcohol

(2) Sulphuric acid

(3) Erythromycin

(4) Sodium carbonate

(5) Not attempted

Anodising is a process of forming a thick
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold '

(4) Copper

(5) Not attempted

hcat
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ber of canals arc therc

How many total num
aryana?

under 'The Bhakra System’ in H
(1) 472 Canals

(2) 528 Canals

(3) 452 Canals

(4) 521 Canals

(5) Not attempted

Where is 1IIT. Haryana located?
¢1) Sonipat

(2) Karnal

(3) Kurukshetra

(4) Ilissar

(5) Not attempted

Who amongst the following was the first
Chiel” Minister of Haryana?

(1) Bansi Lal

(2) Bhagwat Dayal Sharma

(3) Rao Birender Singh

() Banarsi Das Gupta

{5) Not attempted

Fatehabad. is home to two very important
monuments. One is The Lat; which is the

other one?

(1) Humayun Mosque
(2) Dharamkshetra
(3) Banawali

(4) Arjuna Sthal

(5) Not attempted

How many (approximately) Community
Development Blocks does Haryana State

have?

(1) 90-110

(2) 110-130

(3) 130-140

(4) 80-90

(5) Not attempted
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Consider the following statements
A. There are 8 Administrative Divisions in
Haryana
B. Panchkﬁla is one of the Administrative
D1v151om of Haryana.
Which of«the above statements is/are correct?
(1) B only-
(2) Both[Arand B
(3) Neither A nor B
(4) A only
(5) Not a',t_‘@mpted
]
Charkhi Dadrl does not share border with
which on& of the following?
(D Mahendragarh
(2) Jhajjar-
(3) Hisar
(4) Bhiwani
(5) Not z}‘t(tfmpted
-
Which is¢the state flower of Haryana?
(1) Dahlia
) —Tulip"“
(3) Lotus™
4) Marléold
(5) Not attempted

In which ¥ ear was the Pradhan Mantri Mudra
Yojana Iaunched in Haryana?

4 8th Aprll 2018

(2) 25th February, 2017

(3) 10th.March, 2011

(4) 8t Alpril, 2015

(5) Not attempted

NG
Tomb ofdbrahim Lodi is located at :

(1) Panipat)

. (2) KaitHal

T B & forg e/ SPACE FOR ROUGH WORK

(3) Jhajar,
(4) Bhiwani
(5) Not attempted

P.T.O.
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Match List-I Tourist Centres with List-II their

location.

List-I List-IT
A. Sky Lark [. Hodal
B. Damdama II. Gurgaon

[1I. Uchana

[V. Panipat
r from the options

C. Dabchick
. Karna Lake
Choosc the correct answe
given below

(1) A-1V, B-11, C-1, D-III
(2) A-II, B-I11, C-1V, D-I
(3) A-Il, B-1, C-II, D-1V

(4) A-1, B-I1, C-1II, D-IV o

(5) Not attempted

Consider the following statements in respect
of the National Security Guards (NSG)
A. It is one of the Central ,Apncd Police

Forces.

B. It comes undert
of the Ministry o
of India.

‘Which of the a

(1) B only

(2) Both A and B

(3) Neither A nor B

S, .
he adm1n1§frat1ve control
f Defence, Qovemment

bove statements is/are correct?

(4) A only
(5) Not attempted &

B GE
What is the approximately jpopulation of
Haryana? i

(1) 2,00,00,000 — 3,00,00,000
(2) 3,00,00,000 — 3,20,00,000
(3) 3.20,00,000 — 3,50,00,000
(4) 1,50,00,000 — 2,00,00,000

(5) Not attempted Lo
oy
Which is known as the "Gherrapunji of
Haryana"? oy
(1) Kosli ‘
(2) Chhachhrauli
(3) Rewari .

(4) Thanesar
(5) Not attempted

The ancient Fort of Madhoguf‘lli is located in
which district of Haryana? -
(1) Hisar

(2) Jhajjar A
(3) Mahendragarh {

(4) Sirsa e b
(5) Not attempted {~~
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Consider the following statements about

Gross State Domestic Product (GSDP) :

A. GSDP of Haryana is more than that of
Bihar.

B. GSDP of Haryana is more than that of
Uttarakhand.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Necither A nor BB

4) A only

(5) Not attempted

. For rccognizing the efforts towards

environment conservation and promotion,
Government of Haryana has introduced the
award in the name of :

(1) Shri Chaudhary Devi Lal

(2) Shri Bhajan Lal

(3) Pandit Jasraj

(4) Shri Darshan Lal Jain

(5) Not attempted

. Consider the following statements :

A. Hindi is the official language of
Haryana.

B. Punjabi has been accorded the status of
an official language of Haryana in the
year 2010.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?

(1) Panchkula

(2) Jhajjar

(3) Gurugram

(4) Faridabad

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) South

(2) LEast

(3) West

(4) North

(5) Not attempted

P.T.O.
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Which of the following is NOT a part of the

traditional attirc for men in Haryana?
(1) Kamri

(2) Dohar

(3) Sopali

(4) Sala

(5) Not attempted

Consider the following statements :
A. There are five Police Commissionerates

in Haryana.
B. [Faridabad has a Police Commissionerate

located there.
Which of the above statements is/

(1) B only
(2) Both A and B
(3) Neither Anor B

(4) A only

are correct?

(5) Not attempted

. Where is Brahma Sarovar located?

(1) Fatehabad

(2) Kurukshetra
(3) Hissar

(4) Sirsa

(5) Not attempted

Fomous sportsperson Yogeshwar Dutt 1s
associated with which sport?

(1) Shooting

(2) Wrestling

(3) Javeline Throw

(4) Boxing

(5) Not attempted

In the dance form 'Loor', the word Loor
means?

(1) Ornament

(2) Music

(3) Crop

@) Girl

(5) Not attempted

P.T.O.
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successive discounts of 20%
(1) 25%,

(2) 28%
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and 10% ig .
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k4 b

(1) 2450
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o
G
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(4) 2499 &
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43. In how many years will g sum of ¥ 8000

at 5% per dnpum compound interest,
com I3
pounde%gxpnually becomes ¥ 92619
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[
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-

(5) Not attdmipted
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The smallest 5-digit number which is exactly
divisible by 12, 15 and 18 is :

(1) 10.015
) 10,020
(3) 10,080
(4) 10,010
(5) Not attempted

The HCF of 22x33x5%, 23 x3%2x5%x7

and 24 x3%x5x 72 x 11 is

(1) 22x3%x5%x7x11

(3) 24 x3%x5° x7x11

(4) 2% x3%x5

(5) Not attempted

Wheat at % 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,
what is the rate per kg of the second quality
of wheat?

(1) ¥ 10.60
(2) T 10.80
(3) T 11.00
(4) ¥ 10.30
(5) Not attempted

P.T.O.
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(1) c _‘;;xa ( ) c+a
¢ .
s ad ¥ ad +bc N
@ ad +bc @ .
¢ 4 §
3 s ad-b +
\/(:v)/"f be 3) c
c—d c—d
O .
B .
) ab s Cd ao — C¢ W
(fp/ ald @) a-b -
(3) W:ﬂgf ¥ T (5) Not attempted }
48. Regt TR @Y 3:5 % emur # Ry e T 48. A ceﬁain sum is divided in the ratio 3:S.
fx g2 ‘IT;T z275% o T % If the greater part is X .75, then the sum is:
by f—”“} ’ ) ’::‘
(1) T 1305 (1) 130 =
@ T 150° () %150
3 240, e D (3) T 240 i
Mzo- (4) % 120 e
(5) SOX & I A (5) Not attempted

Ly . .
49. afk 0 <xxl g AP Ay e 49. If 0 < x <1, then the gréatest number among

qenm g ¢ o the following is : iy
(1) 2 M) 2
L 2 -
(2) X .
\/ g ok 5
2 G) 2
e * i
Wty
@) x “) x s
(5) waT!TE =Tt (5) Not attempted ;l
IKSHR / X3 / Page 12 T% &4 % RAY WM / SPACE FOR ROUGH WORK
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1
50'A1;T35%'T?f'cm 3 M 5 R ¥ @ §&@m & 50. A can complete

3
\ D g

51,

Vs

S2.

KSHR /X3 / page 13
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2"&,."
wafs B S @ @ 5.0 10 R A a

m%lAamBaﬁrﬁammmaﬁ
ﬁsﬁﬁ‘fﬁ‘mwm%?

m 83

w Aot aEw, D e, o A @ g
65 fedt &, & drg 9T # 292 10 fme wman
¥ sEa Tfa Mex e e
(2)600 W ‘A
(3) 700
(4) 200
(5) 3T T 31 amed

A B Y et T 85,000 @er T 15,000 @M
BT T et fear| T o % aig, P A A
e e & s @ @ter s ?

1) 3:5 2
2) 153 C ;‘;,T;

17:3 =
(4) 3:4 .
(5) T T 21 @ed

51.

% wrd % e W / SPACE FOR ROUGH WORK

3 of a work in 5 days and

2 .
B can complete — of.the same work 1n

5

10 days. In how many days both A and B
together can complete the' work?

'
'

4
1) 85

) 9% )

(3) 10 o
1

@ 73

(5) Not attempted ey
-
A motorlst travelled between two towns

The speed in meters per mmute is:

(1) 500

(2) 600 "

(3) 700

(4) 200

) ‘Not attempted e
('.".’)

[
A and B started a busmess by investing
% 85,000 and % 15,000 ré§pect1vely In what
ratio, out of the followmg, their profits will
be divided after one year?

(1) 3:5 N
@) 153 e
(3) 17:3 o
4) 3:4 "

(5) Not attempted

P.T.O.
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X " 1‘ + 2x =97
53. x—l ‘X‘!‘.l 1‘_x2
oA~
(12 ’ F’Af/z
o3 Lo [
2 et I
. (3) 4 s A
\/(/"{1 - (A)\’/(
(5) ST TR A = 4\’/}

e VD
54. 18 A o T TH FHL & oA oK F, 3 &
ST A foRe O @1 S Hahd € 7

\/(YﬁIG

™6 A ‘A
(3) 218 '
4) 36

(5) JTT T 37 TR

55. gfy /3=1.732 @ V2 =1.414 %

1

V)

(1) 0.308

\ 2 0.318

(3) 2.146

v
s B

(4) 0.064
(5) < T 21 awy

IKSHR / X3/ Page 14

54.

SS.

—\—L_-\_—_—
T a1 & g <oy SPACE FOR RouGH WORK

. S 2—x2 ?
x-1 x+1 1-x
(2

2) 3

(3) 4

4 1

(5) Not attempted

How many cubes of edge 3 cm can be cut
out of a solid wooden cube of edge 18 cm?

(1) 216
) 6

3) 218
4) 36

(5) Not attempted

If /3 =1.732 and /2 =1.414, then

m is equal to

(1) 0.308
2) 0318
3) 2.146
(4) 0.064
(5) Not attempted

p.TO



Join Telegram Group "HaryanaJobs.in"

56. afe A+ B a1 ot ¥, AL B @ g 3y 56. If A + B mecans 'A is brother of B'.

A - Bt & A B @A A — B means 'A is the husband of B".
A % B ad 3, ‘A B % fyar &r

APxQ+R-S Em‘ vm: 3. A % B means. ‘A 1s the father of B'.

Then P x Q + R:=S means :

@ Q, S&ufyr ¥ - _ T
(1) Q is the husband of S
(2) S, P & g %; . .
2) S is the wife of P
3) P.S& R & . , {==
Gy P‘Y") ’ (D (3) P is the father of S
M S @ g % , 4) P is the fnher&m law of' S
(5) FaT Fé 2 ﬂT(‘d (5) Not attempted'\
(A [~

o o { . ) .

57, A ofUSh sl % W9 W arsaftad g § faar | 57 A set of English letters is given below in a
vied . £~ o 3 ~

mar ¥ 1 deme % o wde @ uaq w1 fras jumbled order. Select the combination of

STATT ST @ Traftd o w e s numbers so .thal the lcttc‘rs ‘zn'mngcd
& ' accordingly will form a meaningtul word.

. Sy
TOARHU FO A R
1 334 5% 12343556

\/(*)/3614.5; (1) 3.6, 1,4, 5,2
2 8, 6, 1, 5.3 ¢ P’)ﬂ’»A (2) 3.6, 1,5, 2%

(3) 2, 4, é. I, % @ 3) 2. 4,
(4) 4 ¢ 35 3 (94, 2.1,635

(S)Wﬂ‘é’fémarsé

‘el

A

, 1, 3,6

(3) Not zmempu.cL
CT;

58, g = A S drEt T | S8 58. Choose the option: which is related to the
l ' third term in the-same way as the second -

e THR qg, ved TS 8
W J m« R term is related to the first :
qafg & -
Pen : Write 7 Spade : ?
&w : fa D TSt . -
(1) Dig -

Eﬂw =
W W % (2) Cut oy
) WZ?T [~
(3) Guard i

(4) Crush =

(5) Not attempted

(3) ey
(4) e

) e wh 2 ——
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59, fraw &1 Yy BT " 59. Choose the odd one out :
) (l) PRz ’ (1) Quintal
(2) Kilometer

«3) Relium s, - g (3) Kilogram

(4) (4 Gran’l _—
(5) saT & 7 T (5) Not attemy

statements are give l d by two
60. @ wud ol TTH AT D) P 1 airc 11 fig o 60. Two statements are given, followe

‘ . . ' conclusions I and II. Assuming the statements
%tﬁqu?ggiz ::{ &9 e ‘é} e 'El'. to be true even if they seem to be at variance
BIGHS W B E, Profg oy from the commonly known facts. decide
B @ wa Frad Ry o @ % amm

' which of the conclusions logically [ollow(s)
dHETT ' W |5135ﬂ.al ?/fFemy from the given statements
& i TRai udg ¥

) Statements :  All rivers arc mountains.
ad FRETT vdq ¥) All oceans are mountains.
g (- B Al HeTEmT ¥) Conclusions : (I) Some rivers are oceans.
000 F® Tda Ty ¥ (II) Some mountains are
\ AT o Prea 11 Praseren 3 rivers.
) fremd 1 ot 11 S Prarery ) (1) Only conclusion II follows.
(3) 7 T Prepd | M a A Praperar 2 (2) Both conclusion [ and II follow.
wm Prepd | Rrareran % , (3) Neither conclusion I nor II follows,
(5) T T Ay ey m ‘ ,A (4) Only conclusion | follows.

(S) Not attempted

€ Ol -y qaiem ¥ g, & o ‘
54 \gz?@m mlévﬁq?r %ng@;zﬁ %5_?1;; 61. Early in the morning after Sunrise, Sunny

L : . SSaIC was standing facing a pole. Th
"o AR N = @ a9 feg Ram o qre_ the pole fell exactly to Sunny's :igskllltad\(;/‘;- olf
( : Fy b direction was he facing? Coreh
(2) wiyem (1) East

1=
2 (3) TeR—ufyem fr . H @) West

7 _ 1 (@) ey (3) North-West
[ () 3Tt =& ¥ Awy . (4) South

o/" R (5) Not attempted

2°7 @ 9 T E A G e o i -

143, 149, 155, 62. Find the missing number
14 170, , 203 143, 149, 158, 170, " t};f;;‘e”es :
(2) 190 (1) 185 o
3) 192 {\ylp . f (2) 190
@) 182 3) 192
(5) T TE I arey (b 182
hj(_ (5) Not attempted
A
M‘f‘: IKSHR / X3/ Page 16 T BT % R 1o / spack FOR ROUGH WORK
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63. Tt o & mref - <fenr Rt poac o, < I @
& T HE wm oifm fem gar o ?

\ Ly T
Qj/sﬁ?far(

(3) A

(4) e
(5) ST T [T =

Prss - &

e AR X, Y, Z, M, N st O st #Y oz He
m@qﬁfﬁﬁ%% AT sravaw T & e
wdht @ X B2 X S N % dr e b
'M'ﬁmﬁwaﬁ%l "Y', 'N'és'&sar&%l

'O’aﬁﬁmi{{_ﬁﬁ %lma;qz_‘reﬁaﬁa%?
) ZRY
\}»/o\aﬁrx
(3) O &t N
(4) X a N
(5) T & [T =R

64. B%

Bk

65. aft ws gz s & 'VIETNAM' &1 F2
'WKFVOCN' %, dt @it & w1 & '‘BRITAIN'

@ fbg wer Rvar s ?
(1) crywceip (B
\ 43 CTIVBKO (Cidel

() CTIUuC)P
(4) CTIWBKO

) o & 21 e

63. The fourth day of March in a year was
Thursday, what was the last day of the next

month in that year?
(1) Friday

(2) Saturday

(3) Sunday

(4) Thursday

(5) Not attempted

64. Six persons X, Y, Z, M, N and O are sitting
in a row facing towards North but not
necessarily in the same order. 'Z' is sitting
between 'X' and 'N'. 'M'is not at the end. "Y'
is sitting immediate right to 'N'. 'O’ is not at
the right end. Who are the neighbours of M?
(1) Zand Y
(2) O and X
(3) Oand N
(4) X and N
(5) Not attempted_.

65. If in a code language 'VIETNAM' is coded

as '"WKFVOCN', then how will 'BRITAIN’

be written in the same code?
(1) CTIWCJP

(2) CTJVBKO

@) CLIUETE

(4) CTJWBKO

(5) Not attempted
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66. ‘1 + onE B T A FY aw qAih ST
M&E T —
(1) perames
(2) FSATEA o
(3) FameE (>YV°-> ‘ 9
HeTTE o
(5) SwR W AW A
oot
67. ‘HIYTY’ TEK U b1 SRiq Rpw ¥ -
(1) fafrer gow '
(2) BT gou i D
() o o S
) Fhea gow 2

68. ﬁqw%ﬂaﬁwﬁmﬁ@ww@aﬁm
TE gAT X ?

(l)j%sﬁmémm aaﬁwmaﬂﬁ
| o

\/@)/w% e, & oot T e |
(3) 50 5 % wer A
(4) g7 e gex ¥ WA@Y
6) v rm A B S

69. "wETad 4T HTAT % {0, grge geraw ¥ -
\/Qlj/mr e !

(2) ofg 7 oy Wl o _
(3) o BT wEW i {A.W:, 'pf :
(4) #ar g AT S

(5) wax =& = A

70. ‘R qrem 1 watfies Suges watuardy g ¥ —
qd ‘2
(2) staT s
(3) s e PS 1
(4) =T -

(5) a7 1 Ay

IKSHR / X3 / Page 18

71.

72.

73.

74.

7S.

¥’ zma’(ﬂﬂ STEH?-W% <
(1) == |
(2) A=A

(3) w4

(4) &

(5) wax T %’?ﬂaﬁ%

aﬁm"rg&z%ﬁw—ﬁswx gE T T ?
(1) g

@z

(3) e

) gfe T e

(S)W'ﬂ‘zﬁ&ma@

freitea & & B efgum STA®BIT BN TH A
T P

(1) Tt

(2) BHIUTE
(3) sfarguE
(4) Fargaa

(1) 5T e & i

(@) T sfvers % O Gt
(3) mmﬁlﬂ%’(ﬁm
(4) e shiew - qreifg
(5) SR & [T ARy

Sﬂméaﬁamwm -
(1) e I =

(“‘\

(2) wifse N
(3) sifuferm ‘r:‘
(4) wferd [~

(5) Jmx A & A

T% &4 & 7T 11 / SPACE FOR ROUGH WORK
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1950 % =gt 3y
S 1 T e o
i Bl g 77

TR afrert
TS BT ) wg

OE O

(2) %ﬂ;;ﬁ -

A L -
) FaT el AT e

g 29T A 2023 F e @ W20 4y ST ET
M »

(]) CRIEdl NS
@) AT 3

(4) <RI STRIBT 3y
(5) X AE A (AT
et
78, s et A A Bt (e ¥ Reerhy
i SHEAl T .
OKE
@)
(3)
RIE]

7.

e

L
i 3

7. Fria & & Rat T 1 STt @ e T

HET ST B P
fyae- 2B

s D

-

(2) Terera
(3) TTT ga9r

-1V, &1, D-11
“b B €1, DIV
» B-L, 1y, D11

76.

77.

78.

79.

80.

Civil Rights Movement of 1950's put an end
to social discrimination. From where did the
movement begin?
(1) UK. :
(2) FRANCE ™
(3) GERMANY:
4 US.A, |
(5) Not attempted
( -
Which country has taken over the
Presidentship of G-20 from India in the year
20237
(1) Canada &
(2) Bangladesh:»
(3) Brazil <
(4) South Africa.
(5) Not attempted
)
How many functional units are there in
Indira Gandhi National Centre for the
Arts (IGNCA)?

(1) Seven

(2) Nine )
(3) Three -
(4) Five o

(5) Not attempted

Which of the l’_f_'gllowing states is known as
'Sandalwood state of India'?

(1) Karnataka'

(2) Meghalaya

(3) Uttar Pradesh

(4) Chhattisgarh,

(5) Not attempted

Match the following :

List-1 . List-11
A. Rowlatt Shtyagraha 1. 1918
B. Civil disobedience . 1919
movement
C. Mill workers' strike L. 1922
D. Non-cooperation V. 1930

movement-'
Choose the correct answer from options
below : -
(1) A-llI, B-IKYC-I, D-1V
(2) A-IL, B-IV, C-, D-III
(3) A-lll, B-I; O-I1, D-1v
4) A-ll, B-1,'C-1V, D-111
(5) Not attempted
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81.
o A

A A

82. e ¥ fraw A ol & A qEa g9y 931
HETEAT BT & ?
(1) smedfer

ST YeBT
(3) sr=idhies
(4) 709
(5) TTT T A AR

83. TG 7T Ryemea (TauEs)) @) e fhg oy
s dr?
(1) 1975
1959
(3) 1950 (bh B
4) 1976
(5) ST & AT A

84. ardEdlT AT H a9 99 fpar T SIer Regry
F Frafafed & @ 5 o F emr e & ofy 2

WOk ik 5
(2) durer
(3) oHgEAR ﬂyﬂ%
(4) @e1
(5) ST F& [ W@Ted

85. AT gqrgAsa fea @ ¥ e ¥ 7
aie
(2) ara {)\'\/S'p‘
@) =
(4) omé
(5) SuY T AW ATed

IKSHR / X3/ Page 20

W-ﬁfggamﬁnwﬁiﬁm?ﬂmtg@aﬁ 81}

82.

83.

84.

% @14 & fog W / space FOR ROUGH WORK

a was the first one to

. ate in Indi
Which State 11 1 scheme?

introduce Mid day mea
(1) Tamil Nadu

2) Karnataka

(3) Andhra Pradesh
(4) Kerala

(5) Not attempted

Which is the second largest continent after

Asia in terms of arca?
(1) Australia

(2) Africa

(3) Antarctica

(4) Europe

(5) Not attempted

The National School of Drama (NSD) was
set up in which year?

(1) 1975

(2) 1959

(3) 1950

(4) 1976

(5) Not attempted

Non-cooperation movement was called off
when peasants set fire to a police station in -

(1) Chauri Chaura
(2) Champaran
(3) Ahmedabad
(4) Kheda

(5) Not attempted

- Our atmosphere is divided into how many

layers?
(1) Five
(2) Seven
(3) Nine
(4) Eight

(5) Not attempted

TO
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86. yRee fode e A= @i fpg 291 % ﬁ«Tq 86. I‘amous cricketer Ben Stokes plays

ERCHC international cricket for which country?
\/g?{ Ei e (1) New Zealand
(2) Lingland
3) s feran M % (3) Australia
(4) AT (4 West Indies
(5) I TE T ey (5) Not attempted
aq BT Tt gRery - 87. In which year did the Congress and the
g ?(;HT&R s}?m L AN T Muslim league sign the Lucknow pact?
(1) 1909 @9) 1‘909
(2) 1915 (2) 1915
Y 1916 (s C (3) 1916
(4) 1906 4) 1906
(5) SO & ¥ ey (5) Not attempted

88. In Mahatma Gandhi National Rural

88. el ME T Awfior Qwrre MY arferfram, Employment Guarantee Act 2005

2005 (FTEM) H YR @R Y o § fray (MGNREGA), how many days of
At % QST B MLy ¥ ? employment are guaranteed in a year by
(1) 75 f the Indian Government?
WIOO = . (g (1) 75 Days
. 2) 100 Days
3)9 (
() 90 &7 M (3) 90 Days
(4) 120 =

_ (4) 120 Days
(5) BT T & Ared (5) Not attempted

89, ﬁkﬂmﬁa%aé 2019 % fre w T &I o9

. Who won the 'Bharat Ratna Award' for year
20197

\M‘W q@H (1) Pranab Mukherjee
(2) 1. = g M . p (2) Dr. Bhupen Hazarika
(3) W, "r.oa.em. T (3) Prof. C.N.R. Rao
4) Tz faRgear @ (4) Ustad Bismillah Khan
(5) TR =8 7 e (5) Not attempted

N, PR el ooy Gigen T @ &7 90. z):/;li]crllldil;i;clr(c)lsiens not make its own nest?
1 [4
2;/~ SIRREY ' (2) Koel

\ A i M ; B (3) Tailor bird
ORI fafear (4) Weaver bird
(4) fafear (5) Not attempted
O) vty 2 amed i

IKS / SPACE FOR ROUGH WORK
HR/X3/Pagez1 Tq;maasﬁfmfm




91,

92.

\)(g/; incredulus

U3,

A

94.

\ £2¥ Must this tree beZcut?
- (3) Must this tree iscut?

93.

Change the following sentence to indirect

speech.

He said, "Nambiar works hard."

(1) He said that Nambiar was working hard.

(2) He said that N.\ml)l'il had worked hard.

(3) He said that Namhmn had been working
hard. C.)

(4) He said that Nambiar \\011\cd hard.

(5) Not attempted -

it
Choose the correctly [spelt word :

(1) incradulous
{ ( i) {A’Y% g

incredulous
()

" ]
Pick out the part of<the sentence which

“has an crror. If there i is-no error, your answer
1S I"\'
T hu whole block of ﬂais /
A
including two shops were /
B ;
destroyed in the earthguake

m /’)né Q

(4) incradulus
(5) Not attempted

(2) C

(3) No error i
4) A oH
(5) .Not attempted [

Choose the alternative which best expresses
the given sentence in Passive Voice.

Must we cut this treé??
PR

(1) Must this tree wds cut?

(4) Must this tree will-cut?

(5) Not attempted =
i~

FFind out the synonym of the underlined word

in the following sentence.

Colours, like features;) follow changes of

ecmotions. ()
(1) _movements @
sentiments [N

2

(3) under-current (-
(4) moments ad!
(5) Not attempted [~ .

Join Telegfam Group "Haryanadobs.in"

96. Replace the underlined word/phrase with an
alterpative to make a grammatically correct
sentencc. tr)

"The ladder will be collapse if you push the
wall with both the hands.
(1) will have collapsed
(2) will have been. tollapsing
(3) No change v
will collapse [
(5) Not attempted

(Hg L

97. Choosc th altcrnatlvc which best expresses
the meaning of the undulmul idiom.
Our hockey team sgnrr*d tho winning goal
at_the eleventh hour.s.
(1) at a crucial time- )
(2) before an hour . -4

at the last minute.

(4) in the beginning
(5) Not attempted

Ara.C

98. Fill in the blank Wi't.}‘:fcorrect form of verb.
f very strong.

L was <A
(2) will be i’\
(3) shall be i Q.
(4) were Y +f Y;)VB )

(5) Not attempted

99. Arrange the followmg, parts of the sentence
to make a meanmgfu]' sentence.
A. to understand
B. to many people
C. threatening andieven impossible
D. grammar appears
(1) BDCA r

\/(2)/15ACB e

(3) ADBC

(4) CABD

(®)) Not altempted

Ay - B

100.Find out the antomfm)of ‘democracy’.
(1) republig A
(2) delicacy ! !
monarchy £ (
(4) popular M
(5) Not attempted

=





